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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements — Assertion (A) and Reason (R). Choose the
correct alternative given below : 1

Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.

Reason (R): Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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2. “fear 9 S 2023 %, TWHA Wi TFEES (NSE) % il & AR, Th A8
i afy a4, 9 5 2023 - 9 S 2023, H et €AW fHewmpl (FII) g
T 309 U i g forshl i T8 oft |”
ST TH-¢T WA % YA Hged @ ued | gqul R

QT | (fh Tl 1 W3 & fou ot fasheq &1 =@ hifse) 1
(A) 9, sfe (B) i@ﬁ, shfge
(C) =, shise (D) s, efere

3. fmfdfead ¥ & qg1 omqfd (M) H sr@ew Tomivar/foeivareti i 9ga™ hifse . 1
(i) U @HT % T foig o HIHT S0AT R
(i) SOH TLHR & UTE T U g4-HSR i afitifera 781 foharm Sman 2 |
(iii) g Fd TS o hrold Sieh < ITE T 5T BT 3 |

oy
A) () AR (i) B) (i) 3 (i)
(C) had (i) (D) ad (iii)
4. I % IER S &F G [RAT TR HA ITHI =T E]
T TS 7 | (Th Tl sl WA & fou @) fashew 1 =@ difve) 1

(A) &R U9, W Hew
(B) T&mad fHaw, df@ 39
(C) e e, @ e
(D) & 39T, SR 39T

5. T 3ATehsl shl TgaH hifeT d gl faehed i TI hITT 1
TH | TH | 3= (80%) STRIET 37T
(20%)
I 5000 4000 (D).
II 4000 ..(11).. 800
A | (D). (iv).. 5000
ICET

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
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“As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9t June, 2023.”
The above mentioned transactions will be recorded on
account of Balance of Payments of India.

(Choose the correct alternative to fill in the blanks) 1

_ side of

(A)  Debit, Current (B) Credit, Capital

(C)  Credit, Current (D) Debit, Capital

Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.
(i) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (i) and (ii) (B) (i1) and (iii)
(C) (i) only (D) (ii1) only

Total consumption expenditure by households under Keynesian Economics
is a combination of __ and .
(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
II 4000 (). 800
Total .(iii).. (). 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
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6. YW dqe (BOP) H 31 o1 aread i ferhar 9 7 |

(feh M =1 W1 & foTe w&t fasheq &1 =gm fifse) 1
(A) TR IAd T &R YA
(B) MW WIeqal W AT @I TaH
(C) Ysft Trar YA W et @rar wrfeast
(D) T YAaH W &R Jiia

7.  TorHl sreufdes s1eegaeen & fou 79 <fifSe s .
C =100 + 0-75Y (S&T C =399 9 Y = 3T)

I = 400 (I, = @ )
73 ek (K) 1 94 g |
(Th o &1 Wi & fore @) faspew &1 =3w Fifs) 1
(A) 5 (B) 4
(C) 6 (D) 3

8. UM WU b, TH Hledh ALTIEAT Hl AMRK Gge T 500 HUS Hl
IR FqaH Uil & | Wa i 1 Jed T 1200 HUS 9 A PITaE
T 400 FS 7 |
ST (Merchandise) 3T & oo T HUS BT |
(T=F T &t WA & foe ot fashew &1 =9m Hifw) 1

(A) 1700
(B) 750
(C) 700
(D) 900
9. TAfIRad el 1 SIMYdeh T HINT 1

FHo 1 ;AT foret srdfegawen #, 33 % TR gfg (AY) Bt 7, @ T8 IUHIM
% T (AC) H Ted TuThash &9 A ghg T ht |

Y72 : HHG 99T TG (MPC) d HI9d s=d T (MPS) Hed Toh-gal
=& U B @ |

feu U At & 3T H, Fefaiaa § 9 w8t foesheq o1 wEe i

(A) YT 15T 8 3 HIH 2 370 8 |

B) I 13T 2 AN FAT 2T B |

(C) HIT 1IN 2T AA 7 |

(D) A 13 231 3T B |
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Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts

(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments
(D)  Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :
C =100+ 0-75Y (where C = Consumption and Y = Income)
Iy =400 (I = Autonomous Investment)

Value of Investment Multiplier (K) would be
(Choose the correct alternative to ﬁll in the blank) 1

(A 5 (B) 4

(C) 6 (D) 3

Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 1700
(B) 750
(C) 1700
(D) 900
Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
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10. Tr=fafea 9 9 o gfie=w 6t yg=m hiflw

1
(A) GDPMP = NNPFC + W
(B) NDPpg = NNPpq + g 3TIcI& &
(C) GNPpyp = GDPyp + TIcsli & UTea g A1eA 1™
(D) NNPpc = NDPyp+ qe98™
11. (%) TH FeuHs Adegazen & fau fi=9 fou mu et & snar w, @red
AT W I TRl 37UTE (NDPpe) % Hod 1 TTHH TMEY 3
. , arer
$.4. .
”é (v %5
(i) Tehal B T it fAmior 300
(ii) ERIG] 70
(11) 3T TP 39T = 400
(iv) Tl gSi ST 3TW 50
(v) fw o] 3THT = 590
(vi) AR (Inventory) e (-) 60
(T2)
(vii) CIRIG] 80
(viil) | I[g ATTH HL 50
(ix) foewt @ ured g FRSH A™ 40
AgqdT
(@) () 39IH 3CTEW hl TEEAT § STRIATSTT hi STGUNN T FUIH hITolT, | 2
(i) ST TRy =i aRfya i | 1
12. fer fafs g gomelt aur 7= fafra gt gomelt & e ST Tase il | 3
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10. Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPpce + Net Indirect Taxes
(C) GNPpyp = GDPyp + Net Factor Income from Abroad
(D) NNPpc = NDPyp + Depreciation

11. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items Amount
(in < crore)
(i) Gross Domestic Fixed Capital Formation 300
(i1) Exports 70
(iii) Government Final Consumption 400
Expenditure
(iv) Consumption of Fixed Capital 50
(v) Household Final Consumption Expenditure 590
(vi) Inventory Investment (Net) (-=) 60
(vii) Imports 80
(viii) Net Indirect Taxes 50
(ix) Net Factor Income from Abroad 40
OR
(b) (@) Elaborate the concept of Externalities with the help of
suitable example. 2
(ii)  Define Operating Surplus. 1

12. Distinguish between fixed exchange rate system and flexible exchange

rate system. 3
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13. T 8 T3 2023 & T IHHITS IFH ¥ 3I¢Yd MHIRGd T 1 MY
AT hifT

“arta T d9 (RBI) <A <X fafor afufa 3 o w9 9 S=wmh o1 <@ i
6-5% W IUEfdd W 1 v fo=m 3 | afafa 3 guree Aiftss ifa
(Accommodating Monetary Policy) &l GIY A T &I hirgd i & AU

e e g 1”7
few T 9 g gvE & emuR W A=farfgd e % s difse
(%) ITIH T T AW TC AT e, ! IgATHT g ==t I | 2
(@) afe g fafor gfafa 3 3w g § o &1 g, a gg1 Igfd o gvifad
gftormat st ==t Hifse | 2
14. (%) THfIRaq aTictshl I G0 HINT | ™ & T 200 HUS & TR T ITHA
%A o1 fmto i | 4
37 (Y) Fad 3GT ITHIT qra s=d
(T FIgH) | (THgH) | yghy (APC) Igf (MPS)
0 (=) 30 - _
100 | e 1T
200 | el 085 | e
300 | el 08 | i,
AT
(@) “Tortlt refeaazen O, YeaTlerg Wy ST, TR Gy A d HA g |7
3cITEH, 3T TSR o &R T §8eh YT hl AT hIfT | 4

15. f=faRaa oMl =1 S qel g0 gHIivE <HIfT
() Torelt arefeuawen ®, oH-cq weel sew & forw, qgr fafma & mew’ &

®Y U A 7 | 2
(@) fordlt rdfcaazen o hgld s, Sl & o & ®Y T HE HT 2 | 2
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Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6:5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text. 2

(b)  Discuss the likely consequence on money supply if the rate setting

panel would have decreased the said rate. 2

(a) Complete the following table. Construct/Express the Consumption

function at ¥ 200 crore level of income. 4
Income (Y) Savings Average Propensity | Marginal Propensity
(in Tcrore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — _
100 | ... 3
200 | .l 08 |
300 | .. 08 |
OR
(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4

Justify the following statements with valid arguments :

(a) Money serves as the ‘medium of exchange’ for transactional

purposes in an economy. 2

(b)  The Central Bank acts as Banker’s Bank in an economy. 2
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16. (%) () = fu T = &1 emgEs e hifve R =i W aed
9 H dedd el o1 faveyor hifSu

(I) N 3R gag Tidafaiemt 2
(II) =TT ‘ 2
T S S s (T #ig)
5.50 1 2021-22 .
Z-gg: [ T/ == (RE) 2022-23 _
ppey Il 5= =% (BE) 2023-24 : =
3.50 - %
3.00 - XK Z
2.50 - o N o /
2.00 - - w283 % %
150) o See 358 25 puram ! ||
0804 ==
»lcam IHZR7 N 08|
amtaes el faem w@wew fren PR TEg  umfu AT
eI wfaferfeai fapmE
(F) Gi) ‘o ER’ 9 wftes '’ & i fm T FifV | 2
3rere
(@) fmfcIRaa i TSEa TIkaAi 12T Yoia Tt ® aiffehd shiforg | 39
ST 9F § IY Teh ST
() U W IH &N | ‘ 2
i) et Tl swrat <t fersht & fafers wrfeat | 2
(i) WA ¥ STfciehl & hl AicdTgd L o ToTC TI® TsT SR
(USA) TR g &t 718 Torita dgm | 2

Fie: HEIET F97 FcT FIETET Gl & 1o7g 397 &7 16 & (i) & T |
g/

LN T9le & R o i = hifg | 4
17. (%) Uh fg-8 Hied § 31 % =hid TaTg ! STGUROT 6 €689 o sared
$||\3Q| 3

(@) “Hifgh "ol WS 3G (GDP) i T H ITEdiosh Hehel =Xq] 391G
(GDP) Terelt Trsg hl 3TTieieh |G o1 98 Hehash g |7
FI1 A9 ST T o & TgHA & ? Tohdll IY Hicui-ich T&IATHS IGTEW
% 1Y AU T HI gfee Hifre | 3
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16. (a) () Study the following chart carefully and analyse the changing
trends in the government expenditure on :
(I)  Agriculture and Allied Activities 2
(II) Transport 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
C=-
5.50 1 2021-22 !
2.0 [ Revenue Expenditure (RE) 2022-23
1 o
80 Jll Budget Expenditure (BE) 2023-24 o
4.00 A o~
3.50 1 g
7%
3.00 > 28 %
2.50 1 RECRN %
2.00 - % o I
= sn I8 %
1.50 1 Shw ¥T=2 o™ _ / /
—ss L8 EEE 2o oy M|
10015 ¥ 2 p7c g S S / / /
ol Crm el B
izl N 4 Al 7 M 7)
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities Development
(a) (i) Distinguish between ‘Revenue deficit’ and ‘Primary deficit’. 2
OR
(b)  Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2

(i1) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India.

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 a(i).
Explain the stabilisation function of the Government Budget.

17. (a)
(b)

11-58/1/2

Discuss briefly the concept of circular flow of income in a two-sector

model.

“Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross

Domestic Product (GDP).”

Do you agree with the given statement ? Justify your answer with

a valid hypothetical numerical example.
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T ue @
WR = arrfefes faemma
18. Tr=fciRad sl 1 eaHYE® T=—H HiT 1
FY7 1 : MUFERE T & Adld, Ui T=AT (I8 &d, 8% 9 dr
aftfe) 1 foepra femam TR e |
FHYT2 : URd H AUTH T & fqomd o i aeafaes e fefew f&ai =i
Tge S o |
feu U el % I H, faiad # ¥ wEl fased w1 =e hifv
(A) YT 19T g 3TN HeH 2 310 7 |
(B) WU 130T 8 M AT 2T 2 |
(C) YT 13 2gHI acF 2 |
(D) YT 13 2T IEH B |
19. YgIH i for Fefafgd 4 & sH-a1 foshed, SN fowom womelt o sraer
W%wﬁmﬁ% 1
(A)  TIASH, WSROI, TEEHTT, Jehfor
(B)  3IcqTed, SIS, JEEehtr, Ifem
(C) GASH, TR, Yehion, TiEs
(D)  TEERT, Yehfort, Ufem, faauor
20. fafafEa wamt &t ufgr - e (A) 3R R (R) | = fou mu fasedt &
ﬁaﬁﬁwgﬁq 1
S7YFHIT (A) : Tavd SR G184 (WTO) ¥ I8 19T <hl Il & foh 98 e
TS g MY, U TehalWhl 9T I Jfaeel & =+ & foie
Frm_sneunfa sTies saaTen Teonfug =t |
FROU(R) : AR GI&IU < HIY-HY, fovd 3cqreT | qlog\ ST 9 dfgaeh
Wﬂ'—ﬁws’mﬁwﬁﬂ{[ﬁfﬁ?{ AT AT 7 |
ey
(A)  ARHAT (A) 3R RO (R) AT TcF & 3R HROT (R), AR (A) H
T AT & |
(B) 31 (A) 3R HRUT (R) THT T &, ATk ST (R), 317hed (A) i
HE AT TET ® |
(C) 3 (A) T B, Afehd SR (R) 3TEH 7 |
(D)  AMHHAT (A) 3TEH 3, ok RO (R) T B |
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SECTION B
Indian Economic Development

18. Read the following statements carefully : 1

Statement 1 : Under the colonial rule, basic infrastructure (like

railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development

in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

19. Identify which of the following alternatives indicate the incorrect

components combination of Agriculture Marketing System : 1
(A) Assembling, Storage, Processing, Packaging

(B)  Production, Assembling, Processing, Grading

(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

20. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : World Trade Organization (WTO) is expected to establish

the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure

optimum utilization of world resources along with
environmental protection.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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21. fm=fifaa weaat i ufen - srfisped (A) 3R o (R) | = feu e fashewt o
o Tgt fashed T - 1
SfYHYT (A) : T T IS IRt & foau Afafers amfses 9 nfdes e
3cqd i o T ISR o o1 39T fharm 2 |
FRU(R) :  TTHR gRI MR YT T=ET o AT 4 =1 H A4
forehTe Hehdehl H HehMIcHeh qiony feu & |
IEETR I
(A) AR (A) I HIOT (R) I T & 3 HRUT (R), AR (A) hHi
e AT 7 |
(B)  3TfheM (A) 3T ST (R) SHT T B, Wfehd ROl (R), AMMHH (A) I
HE AT T 2 |
(C) 3R (A) FcT 7, Wohd ST (R) 37T 7 |
(D) 3 (A) IHF B, Afehd R0 (R) T 7 |
22. T=faRaa foeedi 4 &, fafafia S a9R & srgewr ewdl i Tgam Hw 1
(i) PRI B ITh IcAGl I T oI TCaa™ o AU fodque Jorredt
A I JHTET ST |
(i) I < T foque FHETE B= § IR FI galcanzd ST |
(iii)  SHEERI ST SATHOT THAT |
(iv) SR i ITeh! 3T ohl TUETT g HET H IR i o foQ galcaniad
< {AT |
IEETR I
A) () AR Gi) B) () AN (ii)
(C) (i) 3 (iv) (D) (i) 3R (v)
23. 9NA 9 UIfhEd™ | SHAI: E| ul H AT FUR AT
frg 9 |
(Th Tl & W & T @&l fasheq &1 =@ difv) 1
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
11-88/1/2
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21. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

22. Identify from the following alternatives the incorrect objectives of

regulated agriculture market :

1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

(i1)) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (ii) (B) (1) and (ii1)

(C)  (iii) and (iv) (D) (i) and (iv)

23. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(C)
11-58/1/2

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991

1
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24, ARG AT 1 LIS AT HINT
FY7 1 : T iaey HAe0 13 (NSSO) H SUSHH 1 58 bR GRTa
fopa 2 T o8 a8 sraen B, T =afts &m & v & SHror fom
HTH & @ Id & Wohd d G4Tfad Fapieti ¥ &M skl 9o = &
8 | d %W IR gl & Aiser feufadi % dgd M S 6l
TTI1 /TS SI<h hid & |
FYT2 : ARG 0 AITh AEE dTel TS T I=05d ISR AR TS
qaE B |
feu U seET % AT H, faiad # 8 wEl faeheq 1 =9H i -
(A) YT 15T 8 3 HIH 2 370 8 |
(B) HIT 1IHT L AN FIT2TT ¢ |
(C) o 1R 23H 9T 7 |
(D) A 13 2THI 3T 7 |
25. YgaM i o fm=fafaa & @ a1 G-20 1 9 Y 787 2 -
(A) SIS
(B)  seferan
(C) TaTe
(D) TSI
26. fafafiga wuat = afgu - 1firpem (A) 3R &1 (R) | = few e faeheut o
SFeT (A) : W dEd 9 & ys faf=m 4 38 St waf =
yfeeaeff g9 & Tk fozm o |
FRU(R) : TS & 3 IcuTg TUrEn iR AR Ufaeagichehdr § gUR &
T ARHY ITed HH T TSt U o+t bl off |
IEETR I
(A)  SANTH (A) 3R RO (R) T TcF & 3 RO (R), AH (A) i
TE ST 7 |
(B)  31fheM (A) 3R ST (R) SHT T B, <fehd RO (R), AMHH (A) I
e A 7E7 2 |
(C)  ATHAT (A) T B, AT R (R) 3T 8 |
(D) 3R (A) 3T 8, Afehd HRUT (R) TF 2 |
11-58/1/2
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24. Read the following statements carefully : 1
Statement 1 : As per the National Sample Survey Organization (NSSO),

unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing
conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem

in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
25. Identify which of the following is not a member nation of G20 : 1
(A) Brazil
(B)  Australia
(C) Bangladesh
(D) Argentina

26. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses

rather than on improving the product quality and
international competitiveness.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

11-58/1/2 P.T.O.
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27. 1970 % < W, UTfhEd™ = 39 ST T TSETRLor foharm o |

(A)

(B)

()

(D)

(Th o &1 WA & fore o) faehew 1 =am Fifso) 1
fafercan s wo=mT gadl
faesft = mR

28. “9na #, Ted fram Hifa 2020 # ferepi & damRRia TtE W T T

ﬁ_q.l.% l”
(i) 39 eH H 3@ AHa S FE0 (HCF) % @i hl 989 it | 1
(i) 9N & A1 I W 39 |id & Gurfad g9Tal bl fodr @ s
hHIfTT | 2
29. (%) 3 SN o IR ¥ wae s wror 5 &3 & fenfie Hifa

(@)

11-58/1/2

Hehed, 1956 % q&d (AMATHA 3T =T o | 3

AAAT

“STrafafres I o SH BN & | feran (TfagHar) <gt s off 17

FIT 379 U U I § TEHA & ? 9Y dehl gl A9 ST 1 I fug

T | 3
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27. In the decade of the 1970s, Pakistan nationalized its industries.

(Choose the correct alternative to fill in the blank) 1
(A)  Medical infrastructure
(B) Consumer goods
(C) Capital goods

(D)  Foreign trade

28. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1) Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement. 1

(ii)  Elaborate the likely impacts of this source on the economic

development of India. 2

29. (a) Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956. 3
OR

(b)  “During the colonial period the agricultural sector showed massive

stagnation.”

Do you agree with the given statement ? Justify your answer with

valid arguments. 3
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“OFh TSg % oA T GHINIGh WU o [IWTT 4 A Hehd T B TR
T 3T 2023 & HE § IH bl 10 D, fovd &1 g9 3fues

STEET STt TS o T 8 17

= gRT 1970 & Tk T ITUATS TS TehA-aTcdeh HIfd oh TROTHT <hl AT
HIT |

=4 1 Ieleh Falfg W o=y Swfelsh & (SEZ) % wwrai i == g | 2

Y TRl g Ioi@ d AT shifore for fAmaferfaa som grg 8 a1 sra

(1)

(i1)

(1)

(i1)

A H, AR 9hR A o q@mgql % HIean ST o fag

SH-GF IISHT 91 s AUl heH 39TT & | 2
yfteh — SHEE FUTd fopet T ° TR i feufa s fargetyor
HE & TTT 39 foRam ST 9T Wk Tehdoh © | 2
AAAT
N § A em = iedfed o h AavHhar hl s
Eﬁliﬁiq | 3
R yoEh e § fafaeimo nfafafem 6 gl g e
T Ieoig hHIToT | 1
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“United Nations Department of Economic and Social Affairs

indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.

OR

(1) Elaborate the need to promote women’s education in India.

(ii1)  Mention any two examples of diversification activities in the

non-agro processing industries.

3
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| CIfocd]
32. (%) YNRd S UTH &= # forqamwer 6 gy wo (Afdery-arE) Junett % His o
ATH ddrsu | 1
(@) “Gauam feufa #, arRa S Usg § @ geed I i § e SRnfeh

Hewaqul YT fvrt g 17
feu U e w1 fifue fag FifSw | 3

33. (%) () “9Nd AR g IBMT T IR U™ & ard, fafia & |
fopu T gUR ST dEEyy o |7 3

feu U wum T Sy TR g Wed Ir¥ar FHeH Hifu |

(i) e hifoe fop, forg TR Bf@ wifd 37 TR & @@ et 6
AT & THY ITAT B & (U YR o9 o oY i @
I B H THFE TR 97 | 3
AT

(@) @) “g fhees o T B Bd & — N IGH W 5&@ ol VW & Th
3 QR &7 |7
HY IugH TR T % U 9 fg9er § g1 aehl dfga U MY we

i gfee il | 4
(i) WA SR AT o I o €9 H “GHal % A GGG h
A< hl 3ol shIT | 2

34. TfaRad T &1 eaHYEs AR HINT

WA § 91y q91 I GGl ohl & @ wiEwer fHarst 8 fued % foe
EHR A 1974 H gl FGUUT (301 s (CPCB) sl TATHT 3l | 36k d1G, TY
TR W gt qfaefe faarst & fged & fofe o= 9 oo g a9 | 3
d1€ (CPCB) 5, a1 3R Y YgUU ¥ Halerd el 1 oo 3 faa
Hd 2 | d FHE /AR T R 3cesiT & A Haiid id 8 | I 98 TN
1 T TGUU o kA, FEA0 3R HHl o foIu Jrar-amei g Afedt sk pai
FI TWedl & g & I qehichl TERAT YgH HLd & | 3T i ay
U H gUR AT B | A G H g YGEU o FREEer g ol §OER ol deiehl

N
gl YgH L 7 |
Qcollegeduniag
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32. (a) State any two advantages of micro-credit system of financing in
rural areas of India. 1

(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”

Justify the given statement. 3

33. (a) 1) “Under the liberalisation measures taken by the Government
of India, financial sector reforms were extremely crucial.”

Reject or support the given statement with valid arguments. 3

(i1))  Clarify, how the Green Revolution enabled the government to
procure sufficient food grains to build stocks to be used during
the times of food shortages. 3

OR
(b) (1) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies. 4

(ii))  State the importance of “Growth with equity” as the objective
of Indian economic planning. 2

34. Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.
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J SIS I 9 1Y UGNV § Hefad GEEAS hl A= 9 EUE W H @
3R T S I ATIIH I I Hid & | 39h (¢ o I TIR < H1e99 d
S SITTEehdl hUshH Hed i & | PCB el d TSy 39l o fHaeH
3R IR ¥ Fad fammae, gigar 3R Ariesie e dI +id 3 |

e o fafEee g 9 91 TueT @1 Jodehd hid & | aead B 3T
e Tl srfeepifen & oM @ TS A1 3 AR § W aTet T
I 1 FE-a W), e ok T Scsie 3q SUeey UM
TITeAal 1 fIeeiyo i o foie et 7 | I8 Sei-3ae fgio 9 7w f=sE &
T sTravae IeevfH a1 a1y TuE 3ihe i YGH T 7 |

TeuUl fREV i€ I YGWU § HEld Tkl 3N HIfeTshl TSl
Hehod, HUTEH 3R faqor &wtd 8 | 3 125 Afeai (3ad 3wfeat ot wire 2),
U, siter, @), arrE, S, ATl 3 T8l § Sl i qure shi e i |

feu U e 9 AW I % o aR W Efaiad geE % s AT

(%) TH Tl T gl 1 Soorg Y Sk RO g wguw e &
(CPCB) ! TATHHT <l TS off | 1

(@) o YU e 1€ (CPCB) g1 fhy S amet fohedl a1 sl <l
ST T | 2

()  uRa gr aref Ty gifraa 0 & fae s 78 foeedt 31 oo
1 Ui HIRTT | 3
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These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.

They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established. 1

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB). 2

(c)  Elaborate any two strategies to ensure sustainable development as
adopted by India. 3
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